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1. Answer the following as directed : 1x10=10

At SR oore frapTze s fmn:

(a) Name the philosopher whose view was
primarily criticised by G. E. Moore in his
article, Refutation of Idealism.

& % T@ (06 ‘TRm 97 4TS IS
SO T TPAorRIPR =T o |
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(2)

(b) What is the fundamental question of Russell’s
logical atomism?

IR SR AR s ereehr [ 2

(c) Molecular proposition is the truth-function of
proposition.
( Fill in the blank )

e /A 591 379) FeI |
(<R Ot o= 70 )

(d) Write the name of one prime advocate of
Vienna Circle.

TR & Y3 PR QORI AW forsit |

(e) Who wrote the book, Language, Truth
and Logic?

Language, Truth and Logic &R (I
o1 MR 2

(f) The resemblances exhibited by  language
game are called resemblances.

( Fill in the blank )

AN (4ET TN A AP A A |
( 1 3 =T 1)
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(3)

(g) According to Russell, a descriptive phrase is
a simple/a complex/an incomplete symbol.

( Choose the correct answer )

WER We I @ T 9
T f&ibe e A8 |

(= Teaeht Al Sferear )

(h) ‘‘Language has no single essence.”” Whose
statement is this?
“SRR @I G ATEl AR @3 TR
CRTCT REIRR ?

(i) Who is the propounder of use theory of
meaning?
S AT 2qEF @

(i) Which one of the following statements is
true?
Y (P! B g 2

(i) Moore is an idealist.

T R @RI S |

(i) Moore is a sceptic.

T (FR QR SNrIm |
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(4)

(iij) Moore is a realist.
T (XR @I I |
(iv) Moore is an existentialist.
T IR @[T S|
( Choose the correct answer )

(% Teachr AR Sferear )

2. Answer the following questions : 2x5=10
fRafoe eppiyR Tes fm :

(a) What is fact according to Russell?
RICTER ARG AT R

(b) Write the name of two books authored by
G. E. Moore.
&, 2, 3 o 90 R 7 AW oo

(c) State two characteristics of logical positivism.

SR O Y1 LA BrE 40 |

(d) How many types of description are there
according to Russell? What are these?

MR WO RER 2R @217 AR B B2

(e) How did Moore' distinguish between ‘blue’
and ‘the consciousness of blue’?

TR @ [ i Qe I oA Twe
N fel SR 2
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(S)

3. Answer the following questions (any four) : 5x4=20
iR ppiza Tes fiar (R e sif¥ei) -

(a) How did Russell distinguish between atomic
fact and molecular fact?

AR ©f T AT YR TS A
@ﬂaﬁﬁﬁ%@:

(b) Write a short note on Moore’s Defence of
Common Sense.

T34 TR @R IR e o1 vy e o |

(c) How did Vienna Circle draw the distinction
between strong and weak verification?

T PEY, (@R IRE S el TR T[S
Nz et PRee 2

(d) Explain briefly Wittgenstein’s view on private
language.

THTRTE IfeTS  SRI-TEPE  TSIB
ST TR

(e) Write a short note on ‘Family Resemblance’.

o Sp’ =it «f 5 ot for o
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(6)

(f) How Wittgenstein associated with Vienna
Circle? Explain briefly.

TR R 5 T5© W wive
et ? ST AT ]9

’

4. Answer the following questions (any four) : 10x4=40
fRafeRe spprze Tes fran (R cren wifvdt)

(a) What are the objections raised by Moore
against idealism? Explain.

o Reta 11 s & &2 axm
Eall

(b) Give an account of the analytic movement in
the contemporary Western philosophy.

TPTRT APEre) PTe REFITNS e O3
ST WIfe 1 |

(c) What do you mean by logical atomism?
Explain and examine Russell’s view.

o RNER I R @2 (7 cvae AWEw
ST SIS 70T SAISCGHT |
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(7))

(d) *‘Every proposition which we can understand
must be composed wholly of constituents
with which we can acquainted.”” Discuss in
the light of this statement Russell’s concept of
truth-functional proposition.

“oroe I/ @ TAA T, TR WS
Ry eie Affde 27 a1 IR @R
TR TR AG-Fd I 4RENCHT el
01

(e) “A proposition is a picture of reality.”
Discuss.

““ 1 359 ¢z TN 5@ 17 SIceTsl F41 |

(f) Do you consider the verification theory of
meaning to be an adequate tool for
eliminating metaphysics? Give reasons in
support of your answer.

RIRE T4 FRC ST T TSIMCo! /S
el SR ? (OMR T Ho(CF T 7O |

(g) Explain how Wittgenstein use language as
tools.

I S
T FREE, 0 I
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